Chapter 3 Test 2 Study Guide
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[image: image1.png]Problems
Simplify each expression below by applying the Distributive Property.

1. 6(9+4) 2. 49+8) 3. 7(8+6) 4. 57+4)
5. 3Q27)=3(0+7) 6. 6(46)=6(40+6) T  8(43) 8. 6(79)

9.  3(x+6) 10. 5(x+7) 11. 8(x—4) 12. 6(x—-10)
13. 8+x)4 14. 2+x)5 15. T(x+1) 16. —4(y+3)
17. =30v-5) 18. —S(b-4) 19. —(x+6) 20. —(x+7)
21, —(x=4) 22, —(=x=3) 23. x(x+3) 24, 4x(x+2)

25, —x(5x-17) 26. —Xx(2x-6)




	27.  Sandy cut a 150-centimeter board into five pieces. The three shortest pieces are the same length, and the two longer pieces are each three centimeters longer than a short piece. How long is each piece of board?

 
28.  Write an equation that would enable you to solve the following problem.

Marta’s jump rope is 25 inches shorter than one and half times the length of Dilbert’s rope. If both their ropes laid together end to end measure 221 inches long, how long is Marta’s jump rope?
29.  What did Mikayla do wrong when she solved this equation? What should she have done?
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30.   Solve for x. Check your solution: [image: image3.png]3(x—3) _





 


